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ÍÛæ̃ Û¶ÛÛ :   ÜÈÛ½ÛÛ•Û-1 …¶Ûé ÜÈÛ½ÛÛ•Û-2 ¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …ÅÛ•Û …ÅÛ•Û Š«ÛÁõÈÛÐüà¾ÛÛ× ÅÛ”ÛÛé.  

Instruction : Answer each Section in separate answer sheet. 

 

ÜÈÛ½ÛÛ•Û – 1 / SECTION – 1 

 

1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ¸Ûó©ýÛéïõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 20 

 Answer any two of the following questions each in 750 words :  

 (1) ÜÉÛ“Û¨Û¾ÛÛ× ¾ÛÛ¸Û¶Û …¶Ûé ¾ÛæÅýÛÛ×ïõ¶Û ÈÛ˜˜Ûé¶ÛÛ ¸ÛÁõÍ¸ÛÁõ ÍÛ×¼Û×µÛÛé ÈÛ¨ÛÙÈÛÛé.  

  Describe relationship between measurement and evaluation in education.  

 (2) ßÛÛ¶ÛÛ©¾Ûïõ “ÛéªÛ¶ÛÛ Ðéü©Ûä…Ûé ›÷¨ÛÛÈÛà ¸Ûó©ýÛéïõ¶ÛÛé …¬ÛÙ …¶Ûé ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé ŠþùÛÐüÁõ¨Û ÍÛÛ¬Ûé ÈÛ¨ÛÙÈÛÛé.  

  State the objectives of cognitive Domain and describe meaning and specific 
objectives with example.  

 (3) ¾ÛæÅýÛÛ×ïõ¶Û¶Ûä× ïõÛýÛÙ“ÛéªÛ …¶Ûé ›÷ÄõÜÁõýÛÛ©Û ÈÛ¨ÛÙÈÛÛé.  

  Describe the scope and need of evaluation. 

 

2. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ¸Ûó©ýÛéï 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé :  10 

  Answer any two of the following questions each in 125 words :  

  (1) ”ÛäÅÅÛÛ ¸ÛäÍ©Ûïõ ÍÛÛ¬Ûé ¸ÛÁõà“ÛÛ¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ …¶Ûé ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  

   State the concept and characteristics of examination with open book. 

  (2) ½ÛÛÈÛÛ©¾Ûïõ “ÛéªÛ¶ÛÛ Ðéü©Ûä…Ûé ›÷¨ÛÛÈÛà, ©Ûé¶ÛÛ ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé …¶Ûé …¸ÛéÜ“Û©Û ÈÛ©ÛÙ¶Û 
¸ÛÜÁõÈÛ©ÛÙ¶Û¶ÛÛ× ŠþùÛÐüÁõ¨Û …Û¸ÛÛé.  

   State the objectives of affective domain and its specific objectives and 
expected behavioural change with examples.  
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  (3) “¾Û¶ÛÛé•Û©ýÛÛ©¾Ûïõ “ÛéªÛ¶ÛÛ ïõÛýÛÙ ïõÁõ©ÛÛ× ÉÛà”ÛÈÛä× …¶Ûé ¸Ûó½Ûä©ÈÛ ¾ÛéÇÈÛÈÛä× ©Ûé Ðéü©Ûä…Ûé ÈÛ©ÛÙ¾ÛÛ¶Û 
ÍÛ¾ÛýÛ¶Ûé …¶ÛäÄõ¸Û ©ÛÛÅÛà¾Û¼Û±ù ýÛäÈÛÛ¶ÛÛé ©ÛíéýÛÛÁõ ïõÁõÈÛÛ ¾ÛÛ¤éø ›÷ÄõÁõà ™öé.” …Û ÜÈÛµÛÛ¶Û ˜Û˜ÛÛë.  

   Discuss the statement : “The objective of Psychomotor Domain, learning of 
working and mastery are needed for preparation of trained youth relevant to 
present time.” 

 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 5 

  Answer the following questions in short : 

  (1) ¾ÛæÅýÛÛ×ïõ¶Û¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ ›÷¨ÛÛÈÛÛé.  

   State the concept of evaluation. 

  (2) ¾ÛæÅýÛÛ×ïõ¶Û …¶Ûé ¸ÛÛ¥ÕýÛ’õ¾Û ÈÛ˜˜Ûé ÉÛä× ÍÛ×¼Û×µÛ ™öé ? 

   What is the relationship between evaluation and curriculum. 

  (3) µýÛÛ¶Ûïéõ¶®ùàïõÁõ¨Û¶ÛÛé …éïõ ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä …¶Ûé …¸ÛéÜ“Û©Û ÈÛ©ÛÙ¶Û ¸ÛÜÁõÈÛ©ÛÙ¶Û ›÷¨ÛÛÈÛÛé.  

   State one objective of concentration and expected behavioural change. 

  (4) …Ûé¶ÛÅÛÛˆ¶Û ¸ÛÁõà“ÛÛ¶ÛÛ ¼Ûé ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  

   State any two merits of on-line examination. 

  (5) ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé ›÷¨ÛÛÈÛÛé.  

   State the principles of evaluation.  

 

 

ÜÈÛ½ÛÛ•Û – 2 / SECTION – 2 

3. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ¸Ûó©ýÛéïõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 20 

 Answer any two of the following questions each in 750 words :   

 (1) ¾ÛæÅÛïõ ÍÛ×þù½ÛÙ ïõÍÛÛé¤øà¶Ûà Áõ˜Û¶ÛÛ¾ÛÛ× ÍÛÛé¸ÛÛ¶ÛÛé ÈÛ¨ÛÙÈÛÛé. 

  Describe the steps of construction of criterion Referenced Test. 

 (2) ¾ÛÛ¶ÛÛ×ïõ ÍÛ×þù½ÛÙ ïõÍÛÛé¤øà¶ÛÛ× ïõÅÛ¾Û ¸Ûè¬Û‘õÁõ¨Û¶ÛÛ× ÍÛÛé¸ÛÛ¶ÛÛé …¶Ûé ÍÛæªÛÛé ŠþùÛÐüÁõ¨ÛÛé ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.  

  Explain the steps of item-analysis and its formulas with examples. 

 (3) ïõÍÛÛé¤øà¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé. …µÛÙ ÜÈÛ˜™öéþù¶Û ¸Û±ùÜ©Û¬Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ 
ÉÛÛéµÛÈÛÛ¶Ûà ¸ÛóÜ’õýÛÛ¶ÛÛ× ÍÛÛé¸ÛÛ¶ÛÛé …¶Ûé ÍÛæªÛÛé ÍÛ¾Û›ÛÈÛÛé.  

  State the types of reliability of a test. Explain the steps of finding reliability by split  
half method and its formulas. 



DP-106  3 P.T.O.  

4. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ¸Ûó©ýÛéïõ 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 10 

  Answer any two of the following questions each in 125 words : 

  (1) ¾ÛæÅÛïõ ÍÛ×þù½ÛÙ ïõÍÛÛé¤øà …¶Ûé ¾ÛÛ¶ÛÛ×ïõ ÍÛ×þù½ÛÙ ïõÍÛÛé¤øà ÈÛ˜˜Ûé¶ÛÛ ©ÛºõÛÈÛ©ÛÛé ›÷¨ÛÛÈÛÛé.  

   State the differences between criterion Referenced Test and Norms 
Referenced Test. 

  (2) ïõÍÛÛé¤øà¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ …¶Ûé ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛÛé ÍÛ¾Û›ÛÈÛÛé.  

   Explain the relationship between reliability and validity of a test. 

  (3) ïõÍÛÛé¤øà¶Ûà ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ …¶Ûé ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé, ÍÛÐüÍÛÛ¾ÛÜýÛïõ ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ 
…é¤øÅÛé ÉÛä× ? 

   State the concept and types of validity of a test. What is concurrent validity ? 

 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 5 

  Answer the following questions in short : 

  (1) ïõÍÛÛé¤øà Š¸ÛýÛÛé•Û“Û¾Û ÐüÛéÈÛà …é¤øÅÛé ÉÛä× ? 

   What is the meaning of the test is usable ? 

  (2) …¶ýÛ¸ÛÛªÛ ýÛ¬ÛÛ¬ÛÙ©ÛÛ …é¤øÅÛé ÉÛä× ? 

   What is cross validation ? 

  (3) ïõÍÛÛé¤øà¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ ÉÛÛéµÛÈÛÛ¶Ûà ïõÍÛÛé¤øà ¸Ûä¶Û:ïõÍÛÛé¤øà¶Ûà Áõà©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

   State the limitations of test-retest method of reliability. 

  (4) ïõÅÛ¾Û Áõ˜Û¶ÛÛ ¸Û™öà ©Ûé¶Ûä× ÍÛ¾Ûà“ÛÛ¶Ûä× ÍÛÛé¸ÛÛ¶Û ›÷ÄõÁõà ™öé. ÉÛÛ¬Ûà ? 

   The step of item review after item development is essential. Why ? 

  (5) ¸Ûó½Ûä©ÈÛ ïõÍÛÛé¤øà …é¤øÅÛé ÉÛä× ? 

   What is mastery test ? 

___________ 
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Seat No. :  _______________ 
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Time :  3 Hours]  [Max. Marks : 70 

ÜÈÛ½ÛÛ•Û – 1 / SECTION – 1 

1. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 20 

 Answer any two out of three should be in about 750 words : 

 (1) …Û×ïõ¦øÛÉÛÛÍªÛ ÜÈÛÌÛýÛ¶Ûà ¸ÛÁõà“ÛÛ¾ÛÛ× 5000 ÜÈÛ²Û¬Ûâ…Ûé…é 100 ¾ÛÛ×¬Ûà ¾ÛéÇÈÛéÅÛÛ •Ûä¨Û¶Ûä× (1) ¸ÛÛÍÛ ¬ÛÈÛÛ 

¾ÛÛ¤éø …Ûé™öÛ¾ÛÛ× …Ûé™öÛ 36 •Ûä¨Û (2) ¼Ûà›Û ÈÛ•ÛÙ ¾ÛÛ¤éø 48 ¬Ûà 60 •Ûä¨Û (3) ¸Ûó¬Û¾Û ÈÛ•ÛÙ ¾ÛÛ¤éø 60 ¬Ûà 

70 •Ûä¨Û …¶Ûé (4) ÜÈÛÉÛéÌÛ ýÛÛé•ýÛ©ÛÛ ¾ÛÛ¤éø …Ûé™öÛ¾ÛÛ× …Ûé™öÛ 70 •Ûä¨Û ›÷ÄõÁõà ÐüÛéýÛ ©ÛÛé ¶ÛÛ¸ÛÛÍÛ 

¬Û¶ÛÛÁõÛ, ¸ÛÛÍÛ ÈÛ•ÛÙ¾ÛÛ×, ¼Ûà›Û ÈÛ•ÛÙ¾ÛÛ×, ¸Ûó¬Û¾Û ÈÛ•ÛÙ¾ÛÛ× …ÛÈÛ¶ÛÛÁõÛ …¶Ûé (5) ÜÈÛÉÛéÌÛ ýÛÛé•ýÛ©ÛÛ ¾ÛéÇÈÛ¶ÛÛÁõ 

ÜÈÛ²Û¬Ûâ…Ûé¶Ûà ÍÛ×”ýÛÛ ÉÛÛéµÛÛé. ( = 50,  = 10 ÅÛéÈÛä×) 

  5000 students appeared in an examination of statistics of 100 marks. It is required 

to (1) get at least 36 marks to pass (2) secure 48 to 60 marks for second class  

(3) get 60 to 70 marks for first class and (4) get at least 70 marks to have 

distinction. Find the number of students failing in the examination. How many 

students have passed the examination ? Find the number of students securing 

second class, first class and distinction marks :                  ( = 50,  = 10) 

 (2) ”Ûæ¤ø©Ûà Ýïõ¾Û©ÛÛé ÉÛÛéµÛÛé : 

 ™öÛéïõÁõÛ…Ûé ™öÛéïõÁõà…Ûé ïäõÅÛ 

ÍÛ×”ýÛÛ 100 ? 150 

ÍÛÁõÛÍÛÁõà 60 45 ? 

ÜÈÛ˜ÛÁõ¨Û ? 4 5.8 
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  Find the missing values in the table given below : 

 Boys Girls Total

No. of observations 100 ? 150 

Mean 60 45 ? 

Variance ? 4 5.8 

 (3) ¸Ûó¾ÛÛ¨Û½Ûæ©Û ¸ÛóÛ¸©ÛÛ×ïõ …é¤øÅÛé ÉÛä× ? ¸Ûó¾ÛÛ¨Û½Ûæ©Û ¸ÛóÛ¸©ÛÛ×ïõÛé¶ÛÛ Äõ¸ÛÛ×©ÛÁõ ¾ÛÛ¤éø¶Ûä× ÍÛæªÛ …Û¸ÛÛé. ¸Ûó¾ÛÛ¨Û½Ûæ©Û 

¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé.  

  What is Standard score ? Give the formula for conversion of standard score. 

Explain the importance of standard score. 

 

2. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé. ¸Ûó©ýÛéïõ Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 10 

  Answer any two of the following question is to be asked (in 125 words):  

  (1) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û-ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û …¶Ûé ¸Ûó¾ÛÛ¨Û ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé :  

ÈÛ•ÛÙ 41 – 50 51 – 60 61 – 70 71 – 80 81 – 90 91 – 100 101 – 110 111 – 120 121 – 130 

…ÛÈÛèÜ«Û 2 3 5 8 10 6 4 0 2 

   Compute the mean deviation and the standard deviation of the frequency 

distribution given below : 

Class 41 – 50 51 – 60 61 – 70 71 – 80 81 – 90 91 – 100 101 – 110 111 – 120 121 – 130 

Frequency 2 3 5 8 10 6 4 0 2 

  (2) …éïõ ¸ÛÁõà“ÛÛ¾ÛÛ× 15% ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ •Ûä¨Û 60 ¬Ûà ÈÛµÛä ™öé …¶Ûé 40% ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ •Ûä¨Û 40 

¬Ûà …Ûé™öÛ ™öé. ›Ûé •Ûä¨Û¶Ûä× ÜÈÛ©ÛÁõ¨Û ¸Ûó¾ÛÛ¨ýÛ ÐüÛéýÛ ©ÛÛé ÜÈÛ©ÛÁõ¨Û¶ÛÛé ¾ÛµýÛïõ …¶Ûé ¸Ûó.ÜÈÛ. ÉÛÛéµÛÛé.  

   In an examination 15% of the students have marks greater than 60 and 40% 

of the students have marks less than 40. If the distribution of marks is normal 

with mean and standard deviation find the values of  and . 
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  (3) ÜÈÛÊÈÛÛ, …ÛÈÛ©ÛÙ …¶Ûé ºéõÜÅÍÛýÛÛ …ÅÛ•Û ÉÛÛÇÛ¾ÛÛ× ½Û¨Û©ÛÛ Ü¾ÛªÛÛé ™öé. ÈÛÛÜÌÛÙïõ ¸ÛÁõà“ÛÛ¾ÛÛ× ©Ûé¾Û¶Ûé 

¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ’õ¾Û ¾ÛÆýÛÛ ™öé. ©ÛÛé ©Ûé¶ÛÛ PR …¶Ûé ÍÛÛíé¬Ûà ÈÛµÛä ÐüÛêÜÉÛýÛÛÁõ ïõÛé¨Û •Û¨ÛÛýÛ ©Ûé ¶Û‘õà 

ïõÁõÛé : 

ÜÈÛ²Û¬Ûâ ’õ¾Û ïäõÅÛ ÍÛ×”ýÛÛ  

ÜÈÛÊÈÛÛ 3 50 

…ÛÈÛ©ÛÙ 4 40 

ºéõÜÅÍÛýÛÛ 5 60 

   Vishwa, Aavart and Felcia are friends studying in three different schools. 

Using the following information find the PR for each and determine who can  

be considered to be most brilliant : 

Student Rank No. of students in the class 

Vishwa 3 50 

Aavart 4 40 

Felcia 5 60 

 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : (¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û) 5 

  Answer the following questions in short : (All questions are compulsory) 

  (1) …ÛéÇ”Û…×ïõ ¸Û±ùÜ©Û¶Ûà …éïõ ¾ÛýÛÛÙþùÛ ›÷¨ÛÛÈÛÛé.  

   Give a limitation of nominal scale. 

  (2) ÜÈÛÌÛ¾Û©ÛÛ¶ÛÛ ¸ÛóïõÛÁõ ›÷¨ÛÛÈÛÛé. ©Ûé þùÁéõïõ¶Ûä× …éïõ ŠþùÛÐüÁõ¨Û …Û¸ÛÛé.  

   State the types of skewness. Give illustration of each type.  

  (3) ˜ÛÅÛ¶ÛÛ×ïõ …é¤øÅÛé ÉÛä× ? 
–
X = 3, S = 1.41 ¶ÛÛé ˜ÛÅÛ¶ÛÛ×ïõ ÉÛÛéµÛÛé.  

   What is C.V. ? Find C.V. of 
–
X = 3, S = 1.41 

  (4) ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¼ÛÐäüÅÛïõ ¶Û‘õà ïõÁõÛé : 

   8, 6, 4, 8, 10, 13, 14, 10 

   Find the mode of the data with observations : 

   8, 6, 4, 8, 10, 13, 14, 10 

  (5) ’õ¾ÛÛ×ïõ …×ïõ¾ÛÛ¸Û¶Û¶Ûà ¼Ûé ÜÈÛÉÛéÌÛ©ÛÛ…Ûé ›÷¨ÛÛÈÛÛé.  

   Give the two specific characteristics of ordinal scale.  
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ÜÈÛ½ÛÛ•Û – 2 / SECTION – 2 

3. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ªÛ¨Û ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 20 

 Answer any two out of three should be in about 750 words : 

 (1) ¶Ûà˜Ûé¶ÛÛ ÍÛÐüÍÛ×¼Û×µÛ ÍÛÛÁõ¨Ûà ¸ÛÁõ¬Ûà ¸ÛÜÁõ¼ÛÇ •Ûä¨ÛÛïõÛÁõ ¸Û±ùÜ©Û¬Ûà ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé …¶Ûé ©Ûé¶Ûä×      

…¬ÛÙ–Û¤ø¶Û ïõÁõÛé : 

•Ûä›÷ÁõÛ©Ûà¾ÛÛ× ¸ÛóÛ¸©ÛÛ×ïõ  

12–13 14–15 16–17 18–19 20–21 22–23 24–25 

35–37     2  2 

32–34     14 8  

29–31  2 4 18 20 2  

26-28  8 10 16 20 8 2 

23–25 4 6 16 10 8 2  

ÜÐ
ü¶þ

ùà¾
ÛÛ× 

¸ÛóÛ
¸©
ÛÛ×ï

õ 

20–22 8 6 2 2    

  Find the product moment correlation from the following scatter diagram and 

interprete it : 

Score in Gujarati  

12–13 14–15 16–17 18–19 20–21 22–23 24–25 

35–37     2  2 

32–34     14 8  

29–31  2 4 18 20 2  

26-28  8 10 16 20 8 2 

23–25 4 6 16 10 8 2  

S
co

re
 in

 H
in

d
i 

20–22 8 6 2 2    
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 (2) ¾ÛÛµýÛÜ¾Ûïõ ÉÛÛÇÛ¶ÛÛ ¶ÛÈÛ¾ÛÛ µÛÛéÁõ¨Û¶ÛÛ ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ× ¼Ûé ›æ÷¬Û … …¶Ûé ¼Û ¶Ûé ÜÈÛßÛÛ¶Û¶Ûà ïõÍÛÛé¤øà 
¸ÛóÛÁ×õ½Û¾ÛÛ× …Û¸Ûà ÍÛ¾Ûïõ“Û ¼Û¶ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛÛ ›æ÷¬Û …¶Ûé ïõ¬Û¶Û ¸Û±ùÜ©Û …¶Ûé ›æ÷¬Û ¼Û×¶Ûé CAI 

¸Û±ùÜ©Û¬Ûà ÉÛà”ÛÈýÛä×. ©ýÛÛÁõ¼ÛÛþù ¼Û×¶Ûé¶Ûé ÜÈÛßÛÛ¶Û¶Ûà …Û”ÛÁõà ïõÍÛÛé¤øà …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà. ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé 
¸Ûó¾ÛÛ¨Ûé ™öé : 

¾ÛÛÜÐü©Ûà ›æ÷¬Û … ›æ÷¬Û ¼Û 

ÍÛ×”ýÛÛ 60 60 

¸ÛóÛÁ×õ½Û¶Ûà ÜÈÛßÛÛ¶Û¶Ûà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûà ÍÛÁõÛÍÛÁõà 41.30 41.50 

¸ÛóÛÁ×õ½Û¶Ûà ÜÈÛßÛÛ¶Û¶Ûà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûä× ¸Ûó-ÜÈÛ˜ÛÅÛ¶Û 5.26 5.28 

ÜÈÛßÛÛ¶Û¶Ûà …Û”ÛÁõà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûà ÍÛÁõÛÍÛÁõà 53.54 55.74 

ÜÈÛßÛÛ¶Û¶Ûà …Û”ÛÁõà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûä× ¸Ûó.ÜÈÛ. 6.20 7.15 

…Û”ÛÁõà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ  0.55  

  (i) ¼Û×¶Ûé ›æ÷¬Û¶Ûà …Û”ÛÁõà ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶Ûà ÍÛÁõÛÍÛÁõà¶ÛÛé ©ÛºõÛÈÛ©Û 0.05 ïõ“ÛÛ…é ÍÛÛ¬ÛÙïõ ™öé ? 

0.01 ïõ“ÛÛ…é ÍÛÛ¬ÛÙïõ ™öé ? 

  (ii) ÍÛ¾ÛÜÌ¤ø¶Ûà ÍÛÁõÛÍÛÁõà¶ÛÛ ©ÛºõÛÈÛ©Û¶Ûà 0.95 ïõ“ÛÛ…é ÜÈÛÊÈÛÛÍÛ ÍÛà¾ÛÛ…é ÉÛÛéµÛÛé. 

  Two groups A and B of high school pupils of Grade IX are matched by given 

initial test of Science. Group A is taught by the lecture method and Group B by 

CAI method. After treatment final test of  Science is given. Data are as follows : 

Particulars Group A Group B 

N 60 60 

Mean initial score on the Science test 41.30 41.50 

S.D. of initial scores of the Science test 5.26 5.28 

Mean final score on the Science test 53.54 55.74 

S.D. of final scores of the Science test 6.20 7.15 

r between final scores on the Science test 0.55  

  (i) Is the mean difference between the final scores made by group A and B upon 

the Science test significant at 0.05 level ? Is it significant at 0.01 level ? 

  (ii) Determine the limit of the 0.95 confidence interval for the true difference of 

the population. 
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 (3) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ ¸ÛóÛ¸©ÛÛ×ïõ ÍÈÛÄõ¸Û¾ÛÛ× Ü¶ÛýÛ©ÛÍÛ×¼Û×µÛ ÍÛ¾ÛàïÁõ¨Û ¾ÛéÇÈÛÛé : 

 •ÛÜ¨Û©Û ÜÈÛßÛÛ¶Û 

80 60 ÍÛÁõÛÍÛÁõà 

¸Ûó.ÜÈÛ. 12 9 

 r  = 0.90 

  ›÷ýÛÁõÛ›÷¶ÛÛ •ÛÜ¨Û©Û¾ÛÛ× 85 •Ûä¨Û ÐüÛéýÛ, ©ÛÛé ©Ûé¶ÛÛ ÜÈÛßÛÛ¶Û¶ÛÛ •Ûä¨Û¶Ûä× …¶Ûä¾ÛÛ¶Û ïõÁõÛé. …Û …¶Ûä¾ÛÛ¶Û¶Ûà 
¸Ûó¾ÛÛ¨Û½ÛæÅÛ ÉÛÛéµÛÛé. 

  Summary measures of marks in two tests of mathematics and science are given 

below : If marks of Jayraj in Maths is 85, below : find the predicted value of his 

marks in science : 

 Mathematics Science  

Mean 80 60 

S.D. 12 9 

 r  = 0.90 

 

4. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé. ¸Ûó©ýÛéïõ Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé : 10 

  Answer any two of the following questions is to be asked : (in 125 words)  

  (1) ïõÛéˆïõ ÍÛ¾ÛÜÌ¤ø¶ÛÛé ¸Ûó¾ÛÛ¨ÛÜÈÛ˜ÛÅÛ¶Û 15 ™öé. ›Ûé Ü¶ÛþùÉÛÙ ¾ÛµýÛïõ¶Ûà ¸Ûó¾ÛÛ¨Û½ÛæÅÛ 2 ÐüÛéýÛ ©ÛÛé 
Ü¶ÛþùÉÛÙ¶Ûà ÍÛ×”ýÛÛ ÉÛÛéµÛÛé. ›Ûé Ü¶ÛþùÉÛÙ ¸Ûó¾ÛÛ¨ÛÜÈÛ˜ÛÅÛ¶Û¶Ûà ¸Ûó¾ÛÛ¨Û½ÛæÅÛ 1 ÐüÛéýÛ ©ÛÛé Ü¶ÛþùÉÛÙ¶Ûà 
ÍÛ×”ýÛÛ ÉÛÛéµÛÛé. 

   The standard deviation of a population is 15. If the standard error of the 

sample mean is 2, find the sample size N. If the standard error of the sample 

mean is 1, what would be the value of N ? 

  (2) 1500 ÜÈÛ²Û¬Ûâ…Ûé¶Ûà …éïõ ¸ÛóÛ¬ÛÜ¾Ûïõ ÉÛÛÇÛ¾ÛÛ× 45.5 ¤øïõÛ ™öÛéïõÁõà…Ûé ™öé šýÛÛÁéõ 1000 
ÜÈÛ²Û¬Ûâ…Ûé¶Ûà …éïõ ¼Ûàœ÷ ¸ÛóÛ¬ÛÜ¾Ûïõ ÉÛÛÇÛ¾ÛÛ× 55.2 ¤øïõÛ ™öÛéïõÁõà…Ûé …Û ¼Û×¶Ûé ÉÛÛÇÛ¾ÛÛ× 
™öÛéïõÁõà…Ûé¶ÛÛ ÉÛ©Û¾ÛÛ¶Û ÈÛ˜˜Ûé ÍÛÛ¬ÛÙïõ ©ÛºõÛÈÛ©Û ™öé ?  

   There are 1500 students in the primary school A out of which 45.5% are girls, 

while 55.2% of the 1000 students in the primary school B are girls. Test 

whether the difference between percentage of girls in schools A and B is 

statistically significant or not.  
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  (3) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¼Ûé ˜ÛÅÛ ÈÛ˜˜Ûé ¸ÛÜÁõ¼ÛÇ •Ûä¨ÛÛïõÛÁõ ¸Û±ùÜ©Û¬Ûà ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà Ýïõ¾Û©Û 
¶Û‘õà ïõÁõÛé : 

˜ÛÅÛ - X 22 27 21 24 18 28 29 24 

˜ÛÅÛ - Y 15 18 24 23 20 27 30 28 

   Determine the coefficient of correlation between X and Y from the following 

bivariate date by the product moment method due to Karl Pearson : 

X 22 27 21 24 18 28 29 24 

Y 15 18 24 23 20 27 30 28 

 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : (¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé ºõÜÁõ›÷ýÛÛ©Û) 5 

  Answer the following questions in short. (All questions are compulsory) 

  (1) ¸Ûó¬Û¾Û ÈÛÌÛÙ ïõÛé¾ÛÍÛÙ¾ÛÛ× 300 ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ ›æ÷¬Û¶Ûé ýÛÛ×ÜªÛïõ …Ü½ÛýÛÛé•ýÛ©ÛÛ ïõÍÛÛé¤øà …Û¸ÛÈÛÛ¾ÛÛ× 
…ÛÈÛà, …Û ›æ÷¬Û¶Ûà ÍÛÁõÛÍÛÁõà 28.2 …¶Ûé ¸Ûó¾ÛÛ¨ÛÜÈÛ˜ÛÅÛ¶Û 6.8 ©ÛÛé ÜÈÛÊÈÛÛÍÛ …×©ÛÁõÛÅÛ ÉÛÛéµÛÛé.  

   Technical aptitude test was given to 300 students of F.Y. commerce. The 

mean and standard deviation of their scores were 28.2 and 6.8 respectively. 

Find the confidence limits of the population mean () of scores. 

  (2) …¶Ûä¾ÛÛ¶Û¾ÛÛ× ¬Û©ÛÛ ¸ÛóïõÛÁõ-1 …¶Ûé ¸ÛóïõÛÁõ-2¶Ûà ½ÛæÅÛÛé ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé. 

   Explain with examples type-I and type-II errors which occurs in problems of 

testing of hypothesis. 

  (3) r = 0.50 ¾ÛÛ¤éø K …¶Ûé E ¶Û‘õà ïõÁõÛé. ©Û¾ÛÛÁõÛ ¸ÛÜÁõ¨ÛÛ¾ÛÛé¶Ûä× …¬ÛÙ–Û¤ø¶Û ïõÁõÛé.  

   For r = 0.50 find in usual notations, the value of K and E. 

  (4) t-¶Ûä× ¸ÛóÜ©Û˜ÛýÛ¶Û ÜÈÛ©ÛÁõ¨Û ïõÛé¨Ûé …Û¸ýÛä× ? 

   Who had given the t-distribution ? 

  (5) ÍÛÐüÍÛ×¼Û×µÛ¶Ûà •Û¨Û©ÛÁõà¾ÛÛ× ÍÈÛÛ©Û×ªýÛ ÍÛ×”ýÛÛ ïéõ¤øÅÛà ÐüÛéýÛ ? 

   What is degree of freedom in a calculation of correlation ? 

____________ 
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Seat No. :  _______________ 
  

DP-106 
December-2013 

M.Ed. (CBCS) (Sem.-I) 
EDU-405-EC : Educational Technology 

Time :  3 Hours]  [Max. Marks : 70 
 

ÜÈÛ½ÛÛ•Û – 1 

SECTION – 1 

1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ÅÛ”ÛÛé. þùÁéõïõ Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× ÐüÛéÈÛÛ ›Ûéˆ…é. 20 

 Answer any two of the following questions. Each answer should be in about 750 
words : 

 (a) “ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ ¸ÛóÈÛéÉÛ¬Ûà ¾ÛÛ×¦øà¶Ûé ©Ûé¾Û¶Ûà ¸ÛÁõà“ÛÛ …¶Ûé ¸ÛÜÁõ¨ÛÛ¾ÛÛé¶Ûà ›ÛÐéüÁõÛ©Û ÍÛäµÛà ÉÛíé“ÛÜ¨Ûïõ 
¸ÛóÛíé²ÛéÜ•Ûïõà¶ÛÛé …ÍÛÁõïõÛÁõïõ Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛýÛ ™öé.” …Û ÜÈÛµÛÛ¶Û ÜÈÛÍ©Ûè©Û Áõà©Ûé ÍÛ¾Û›ÛÈÛÛé.  

  “Education technology can be used effectively right from the admission of the 
students to their examination and declaration of results.” Explain the statement. 

 (b) “…µýÛÛ¸Û¶Û …µýÛýÛ¶Û ¸ÛóÜ’õýÛÛ¶Ûé …ÍÛÁõïõÛÁõïõ ¼Û¶ÛÛÈÛÈÛÛ ¾ÛÛ¤éø ÉÛíé“ÛÜ¨Ûïõ ¸ÛóÛíé²ÛéÜ•Ûïõà¶ÛÛ ÐüÛ¦ÙøÈÛéÁõ 
…Ü½Û•Û¾Û …¶Ûé ÍÛÛéºõ¤øÈÛéÁõ …Ü½Û•Û¾Û ¼Û¶¶Ûé¶ÛÛé ÍÛÛ¬Ûé Š¸ÛýÛÛé•Û ïõÁõÈÛÛé ¸Û¦éø ™öé.” ©Û¾Ûé …Û ÜÈÛµÛÛ¶Û 
ÍÛÛ¬Ûé ÍÛ¾¾Û©Û ™öÛé ? ÉÛÛ ¾ÛÛ¤éø ? ÍÛ¾Û›ÛÈÛÛé. ÐüÛ¦ÙøÈÛéÁõ …¶Ûé ÍÛÛé¹¤øÈÛéÁõ …Ü½Û•Û¾Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û 
Í¸ÛÌ¤ø ïõÁõÛé. 

   “We have to apply hardware and software approach of Educational Technology 
both together to make the teaching learning process effective.” Do you agree 
with the statement ? Why ? Explain and distinguish between them. 

 (c) “ÈÛ•ÛÙ”Û×¦ø ¸Ûó©ýÛÛýÛ¶Û¶Ûé …ÍÛÁõïõÛÁõïõ ¼Û¶ÛÛÈÛÈÛÛ ¾ÛÛ¤éø ÜÉÛ“Ûïéõ ”Ûæ¼Û ïõÛÇœ÷ ÁõÛ”ÛÈÛà ¸Û¦éø ™öé.” 
…Û ÜÈÛµÛÛ¶Û ÜÈÛÍ©Ûè©Û Áõà©Ûé ÍÛ¾Û›ÛÈÛÛé. 

   “Teacher has to take so much care to make the class room communication 
effective.” – Explain the statement in detail. 

 
2. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé. þùÁéõïõ Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ÐüÛéÈÛÛ ›Ûé̂ …é : 10 
  Answer any two of the following questions. Each answer should be in about 125 

words.    
  (a) ¼ÅÛä¾Û¶Ûà ¤éøîÍÛÛé¶ÛÛé¾Ûà ¸Ûó¾ÛÛ¨Ûé ½ÛÛÈÛÛ©¾Ûïõ ¸ÛÛÍÛä× ÍÛ¾Û›ÛÈÛÛé.  
   Explain affective domain according to Blum’s Taxonomy. 
  (b) ¸Ûó©ýÛÛýÛ¶Û ¸ÛóÜ’õýÛÛ ÍÛ¾Û›ÛÈÛÛé.  
   Explain communication process. 
  (c) ÉÛíé“ÛÜ¨Ûïõ ¸ÛóÛíé²ÛéÜ•Ûïõà …¶Ûé …¶ÛäþéùÉÛ¶Û (Instructional) ¸ÛóÛíé²ÛéÜ•Ûïõà ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û 

Í¸ÛÌ¤ø ïõÁõÛé …¶Ûé …¶ÛäþéùÉÛ¶Û ¸ÛóÛíé²ÛéÜ•Ûïõà¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé.  
   Distinguish between educational technology and instructional technology 

and state the importance of instructional technology. 
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 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ¤æ×øïõ¾ÛÛ× ÅÛ”ÛÛé : 5 

  Answer the following questions in short : 

  (a) …¶ÛäþéùÉÛ¶Û (Instruction) ¶ÛÛé …¬ÛÙ Í¸ÛÌ¤ø ïõÁõÛé.  

   Clarify the meaning of instruction. 

  (b) ¤éøÜÅÛÜÈÛ¡ö¶Û ¸ÛÁõ ¸ÛóÍÛÛÜÁõ©Û ¬Û©ÛÛ× ïõÛéˆ¸Û¨Û …éïõ ÉÛíé“ÛÜ¨Ûïõ ïõÛýÛÙ’õ¾Û¶Ûä× ¶ÛÛ¾Û ›÷¨ÛÛÈÛÛé.  

   Give the name of any one educational programme that is telecast on 

Television. 

  (c) ¼Ûà.…é¦Õø.¾ÛÛ× ©Û¾Ûé ¸ÛÍÛ×þù ïõÁéõÅÛ ÉÛÛÇÛ ÜÈÛÌÛýÛ¾ÛÛ×¬Ûà ïõÛéˆ …éïõ …éïõ¾Û ¸ÛÍÛ×þù ïõÁõà¶Ûé 

“Š¸ÛýÛÛé›÷¶Û”¶ÛÛ ÍÛÛ¾ÛÛ¶ýÛ Ðéü©Ûä ¾ÛÛ¤éø¶ÛÛ ˜ÛÛÁõ ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé ÅÛ”ÛÛé.  

   State any four specific objectives of the general objective ‘Application’ by 

selecting any unit of your school subject opted in B.Ed. 

  (d) ÍÛ¾ÛæÐü ¾ÛÛµýÛ¾Û¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé.  

   Clarify the concept of mass media. 

  (e) ÁéõÜ¦øýÛÛé¶ÛÛ •Û¾Ûé ©Ûé ¼Ûé ÉÛíé“ÛÜ¨Ûïõ Š¸ÛýÛÛé•ÛÛé ›÷¨ÛÛÈÛÛé. 

   Explain any two educational uses of Radio.  

 

ÜÈÛ½ÛÛ•Û – 2 / SECTION – 2 

3. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ÅÛ”ÛÛé. þùùÁéõïõ Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× ÐüÛéÈÛÛ ›Ûéˆ…é : 20 

 Answer any two of the following questions. Each answer should be in about 750 

words.    

 (a) …µýÛÛ¸Û¶Û ¸ÛóÜ©Û¾ÛÛ¶Û¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé …¶Ûé …µýÛÛ¸Û¶Û ¸ÛóÜ©Û¾ÛÛ¶Û ©Û¬ÛÛ ¸ÛÁ×õ¸ÛÁõÛ•Û©Û 

…µýÛÛ¸Û¶Û ¸Û±ùÜ©Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé.  

  Clarify the concept of models of teaching and distinguish between models of 

teaching and traditional way of teaching. 

 (b) ÍÛé¾Ûà¶ÛÛÁõ¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé …¶Ûé ©Ûé¶ÛÛ ºõÛýÛþùÛ…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

  Clarify the concept of seminar and explain its advantages and limitations. 

 (c) ¾ÛÛˆ’õÛé¤øà˜Ûá•Û¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé …¶Ûé ¾ÛÛˆ’õÛé¤øá˜Ûá•Û ˜Û’õ ÍÛ¾Û›ÛÈÛÛé. 

  Clarify the concept of Micro Teaching and explain micro teaching cycle. 
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4. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé. þùÁéõïõ Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× ÐüÛéÈÛÛ     

›Ûéˆ…é :  10 

  Answer any two of the following questions. Each answer should be in about 125 

words. 

  (a) ºõÅÛé¶¦øÁõ¶Ûä× …Û×©ÛÁõÜ’õýÛÛ ÜÈÛÊÅÛéÌÛ¨Û ÍÛ¾Û›ÛÈÛÛé. 

   Explain Flander’s interaction analysis. 

  (b) …µýÛÛ¸Û¶Û¾ÛÛ× …¶ÛäÄõ¸Û¨Û (Simulation)¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé …¶Ûé ¾ÛÛˆ’õÛé¤øà˜Ûá•Û¾ÛÛ× 

…¶ÛäÄõ¸Û¨Û¶ÛÛ Š¸ÛýÛÛé•Û¶ÛÛ ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  

   Clarify the concept of Simulation in teaching and explain the advantages of 

using it in micro teaching. 

  (c) ÉÛÛ ¾ÛÛ¤éø ÜÉÛ“ÛïõÛé¾ÛÛ× ÈýÛÛ”ýÛÛ¶Û ¸Û±ùÜ©Û …Û¤øÅÛà ÅÛÛéïõÜ¸ÛóýÛ ™öé ? ÍÛ¾Û›ÛÈÛÛé.  

   Why lecture method is so popular among the teachers ? Explain. 

 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ ¤æ×øïõ¾ÛÛ× ÅÛ”ÛÛé : 5 

  Answer the following questions in short : 

  (a) ïõÛýÛÙ ÜÈÛÊÅÛéÌÛ¨Û (Task Analysis)¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé.  

   Give the meaning of task analysis. 

  (b) ¾Û¶ÛÛéÉÛÛÁõàÜÁõïõ ¸ÛÛÍÛÛ×¶ÛÛ Ðéü©Ûä…Ûé ›÷¨ÛÛÈÛÛé.  

   State the objectives of psychomotor domain. 

  (c) ÍÛ¾Û›÷Í©ÛÁõ¶Ûä× ÜÉÛ“Û¨Û …é¤øÅÛé ÉÛä× ? 

   What is understanding level of teaching ? 

  (d) ¤ÕøýÛä¤øÛéÜÁõýÛÅÛ¶Ûà ÍÛ×ïõÅ¸Û¶ÛÛ Í¸ÛÌ¤ø ïõÁõÛé.  

   Clarify the concept of tutorial. 

  (e) …µýÛÛ¸Û¶Û¶Ûà ¤øà¾Û¤øà˜Ûá•Û ÈýÛæÐüÁõ˜Û¶ÛÛ¶ÛÛ ¼Ûé ºõÛýÛþùÛ …¶Ûé ¼Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

   State any two advantages and two limitations of team teaching strategy of 

teaching.  
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Seat No. :  _______________ 
  

DP-106 
December-2013 

M.Ed. (CBCS) (Sem.-I) 

EDU-405-ED : Curriculum Development and Transaction 

Paper-V (Optional) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. ÜÈÛïõÅ¸ÛÛé …Û×©ÛÜÁõïõ ™öé. 

Instructions :  All questions are compulsory. Options are internal. 

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é þùÉÛÛÙÈÛéÅÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ ¸ÛæÁõÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 

     Right side digit indicates total marks of question. 

 

ÜÈÛ½ÛÛ•Û – 1 

SECTION – 1 

1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé. ¸Ûó©ýÛéïõ Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 20 

 Answer any two of the following questions. Each answer should be in about 750 words : 

 (1) …½ýÛÛÍÛ’õ¾Û ¸ÛÜÁõÈÛ©ÛÙ¶Û …é¤øÅÛé ÉÛä× ? …½ýÛÛÍÛ’õ¾Û ¸ÛÜÁõÈÛ©ÛÙ¶Û¶Ûà ›÷ÄõÜÁõýÛÛ©Û …¶Ûé ©Ûé¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ 
(Strategies) ÍÛ¾Û›ÛÈÛÛé. 

  What is Curriculum Change ? Explain its needs and strategies. 

 (2) …½ýÛÛÍÛ’õ¾Û ÜÈÛïõÛÍÛ¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

  Discuss about the principles of curriculum development. 

 (3) …½ýÛÛÍÛ’õ¾Û¶ÛÛ ¾ÛæÅýÛÛ×ïõ¶Û¶Ûà ¸Û±ùÜ©Û ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 

  Discuss the evaluation theory of curriculum. 
 

2. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé. ¸Ûó©ýÛéïõ Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 10 

  Answer any two of the following questions. Each answer should be in about 125 words : 

  (1) “…½ýÛÛÍÛ’õ¾Û ¾ÛÛ¶ÛÈÛ ›÷ÄõÜÁõýÛÛ©Û ™öé.” ÍÛ¾Û›ÛÈÛÛé. 

   “Curriculum is human needs”. Explain. 

  (2) …½ýÛÛÍÛ’õ¾Û ÜÈÛïõÛÍÛ¶ÛÛ ÍÛÛ¾ÛÛÜ›÷ïõ …ÛµÛÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 

   Explain the sociological bases of curriculum development. 

  (3) …½ýÛÛÍÛ’õ¾Û¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóïõÛÁõÛé ÜÈÛÉÛé ÜÈÛÍ©Ûè©Û ¾ÛÛÜÐü©Ûà …Û¸ÛÛé. 

   State the types of curriculum and explain any two in detail. 
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 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛÛ×̃ Û ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 5 

  Answer the following five questions in short : 

  (1) …½ýÛÛÍÛ’õ¾Û …Ü½Û•Û¾ÛÛé¶ÛÛ× ÜÈÛÜÈÛµÛ ¶ÛÛ¾Û …Û¸ÛÛé. 

   State the names of various curriculum approaches. 

  (2) …½ýÛÛÍÛ’õ¾Û …ÛýÛÛé›÷¶Û ¾ÛÛÇ”Ûä× (Frame-Work) …é¤øÅÛé ÉÛä× ? 

   What is curriculum Planning Frame work ? 

  (3) …½ýÛÛÍÛ’õ¾Û¶Ûà ¼Ûé ¸ÛóïõÛÁõ¶Ûà ÉÛíéÅÛà…Ûé ›÷¨ÛÛÈÛÛé. 

   State two trends in curriculum. 

  (4) …½ýÛÛÍÛ’õ¾Û ÜÈÛïõÛÍÛ¶Ûä× …ÛýÛÛé›÷¶Û ïõˆ ÍÛ×Í¬ÛÛ ³ùÛÁõÛ ¬ÛÛýÛ ™öé ? 

   Which agencies develop curriculum Planning Frame work ? 

  (5) …½ýÛÛÍÛ’õ¾Û ¸ÛóÍ©ÛÛÈÛ¶ÛÛ –Û¤øïõÛé ›÷¨ÛÛÈÛÛé. 

   Give the components of curriculum design. 

 

ÜÈÛ½ÛÛ•Û – 2 

SECTION – 2 

 

3. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé. ¸Ûó©ýÛéïõ Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 20 

 Answer any two of the following questions. Each answer should be in about 750 words : 

 (1) …½ýÛÛÍÛ’õ¾Û ÍÛÛ¾Û•Ûóà …é¤øÅÛé ÉÛä× ? …½ýÛÛÍÛ’õ¾Û ÍÛÛ¾Û•Ûóà¶ÛÛ ¸ÛóïõÛÁõÛé¶Ûà ÜÈÛ•Û©Ûé ˜Û˜ÛÛÙ ïõÁõÛé. 

  What is curriculum materials ? Discuss the types of curriculum materials in detail. 

 (2) …½ýÛÛÍÛ’õ¾Û ïõÛýÛÛÙÜ¶ÈÛïõÁõ¨Û¶Ûà ¸ÛóÛ¬ÛÜ¾Ûïõ ›÷ÄõÜÁõýÛÛ©ÛÛé ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 

  Discuss about the basic requirements for transaction of curriculum. 

 (3) …½ýÛÛÍÛ’õ¾Û ÍÛÛ¾Û•Ûóà¶ÛÛ ¸ÛóïõÛÁõÛé¶Ûà ÜÈÛ•Û©Ûé ˜Û˜ÛÛÙ ïõÁõÛé. 

  Discuss the types of curriculum materials in detail. 
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4. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé. ¸Ûó©ýÛéïõ Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 10 

  Answer any two of the following questions. Each answer should be in about 125 
words : 

  (1) …¶ÛäþéùÉÛ¶Û ¸ÛóÍ©ÛÛÈÛ (design) …¶Ûé …¶ÛäþéùÉÛ¶Û ¸Ûó¨ÛÛÅÛà (system) ÜÈÛÉÛé ˜Û˜ÛÛÙ ïõÁõÛé. 

   Discuss about Instructional Design and Instructional system. 

  (2) ÍÛÛ¾ÛÛÜ›÷ïõ ÜÈÛßÛÛ¶Û¶ÛÛ …µýÛýÛ¶Û-…µýÛÛ¸Û¶Û¾ÛÛ× ICT¶ÛÛ Š¸ÛýÛÛé•Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

   Discuss the use of ICT in teaching – learning of social science. 

  (3) …½ýÛÛÍÛ’õ¾Û ïõÛýÛÛÙÜ¶ÈÛïõÁõ¨Û …¶Ûé …¶ÛäþéùÉÛ¶Û ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ Í¸ÛÌ¤ø ïõÁõÛé. 

   Clarify the relationship between curriculum transaction and instruction. 

 

 (B) ¶Ûà˜Ûé¶ÛÛ ¸ÛÛ×̃ Û ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× Š«ÛÁõ …Û¸ÛÛé : 5 

  Answer the following five questions in short : 

  (1) …½ýÛÛÍÛ’õ¾Û ïõÛýÛÛÙÜ¶ÈÛïõÁõ¨Û …é¤øÅÛé ÉÛä× ? 

   What is Curriculum transaction ? 

  (2) CAL¶Ûä× ¸ÛäÂú ¶ÛÛ¾Û …Û¸ÛÛé. 

   State the full name of CAL. 

  (3) PLM¶ÛÛ ¼Ûé ÍÛÛ¾Û¬ýÛÛë ›÷¨ÛÛÈÛÛé. 

   State two strengths of PLM. 

  (4) NIPA¶Ûä× ¸ÛäÂ×ú ¶ÛÛ¾Û …Û¸ÛÛé. 

   State the full name of NIPA. 

  (5) …½ýÛÛÍÛ’õ¾Û¶ÛÛ ¸ÛÛ¥øÀ¸ÛäÍ©ÛïõÛé¶Ûà ¼Ûé ÜÈÛÉÛéÌÛ©ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 

   State the two characteristics of textbooks for curriculum. 

    


